WudnLuunLpjniu

Cwuwun Jwnntg Uh htnwynp Gpypnud hdwuwnniu pwagwynp Ep hohuncd: Lw nlutp, ng
wybl, ny wywu M wnehy: Uhw GYwy nuinptGphu wunwubwguGine dwdwuwyp, W
pwawynnp N hwnplewU Gpyputp uncphwunwyubn nLnuipytg: Wn (nupp uGincu wbu
Jntpwpwlignep Gpynhg Uh wppwjwqu Gyuwy:

LhUGInY hp nnLunptiph Yuwnpdhpp hwzdh wnunn uhpnn hwjn, pwguynpp wnwghu
htppehu ywhwletig wpwpwjwqutphu 2wnyt Uh 2wppny, hwdwpwyw|tg Upwlg 1-
hg N pyGnny, L hwpgptig hp wnghyubphg jntpwpwgniphl, ph Gphunwuwnnutnhg
nn UGyh hGwn bw Yygwuywlw wdnLubwlwi:

Ujn Gpynph pwawdnpp jwy dwptdwwnhlwywu ypenipintu ntutp, W upw hwdwn
ndqwn ¢ep wyn hupnpdwghwih hhdwl ypw ywngby, hbwnpwynp £, wpnjnp, hp
nnLunptnphg jnLpwpwugnipnhb hwdwwwwnwupuwubgut] hp hwjwuwod
wppwjwqutinhg uGyhu: Fwjg Gpynh inphpwyuwh wpwunniu Uhuinpp tnwnytig
wjuwyhuh hwnpgny. Lwuh® (L, R) (1<=L<=R<=N) qnyag gnjnLpyntl nLuh, wjuwuhl, nn L-
hg Uhugl. R-p UGpwnjw| hwdwnputpny Gphunnwuwnpnutnphg huwpwynp |hup
nuinnbphg jnLpwpwlgniph hwdwn JGYwywu thGuwgne puunnb:

Oqutp pwagwynphu gnut| hp hwpgh Wwwnwupuwlun:
UnLwp

UnweohU uinnnnd inpwé Gu Gptp wdpnng N, M W K pytin (1<=N<=30000, 1<=M<=2000,
1<=K<=min(N*M, 100000)), hwdwuwwwunwuppwluwpwn, ywunwuhutph pwuwyn,
wnehyutph pwuwynp W wju innntph pwuwyp, nnnugnd Uyw pwagnpyned Gu
wnehyutph bwhuwuhpnipjnLuutpn:

<wgnnn K innntiphg jncpwpuwlgnipnud inpjwé Gu Gpyne wdpnng Ai e Bi wdpnng
PUGN (1<=Ai<=N, 1<=Bi<=M), nnnup Lpwluwyntd Gu, np Bi wngyuwl Ai wppwjwqup nnLp
Eqwihu: Aninp gpwnnudutpp tnwipptn Gu:

Gp
Upwnwétip Uh phy puunph wwydwultphtu pwydwnpwnnn (L, R) gnygbinh pwuwyp:
Onphuwy

UnLwnp.
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FhwnnnipjnLu
tuunph wwjdwuutphlu pwdwpwpnud Gu (1, 3), (1, 4), (1, 5) W (2, 5) anyqbipp:
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